10.

11.

12.

X 31 X3 18

(A) 15 (B) 16 (C) 18 (D) 31
(A)
(B)
©
(»))

e =35 el =37

355 B¢ ¥cl
A1 1 B)1 2 ©)2 1 D)3 1
(A) KF (B) MgS= (C) AlO, (D) SICl,
(A) (B) ©) (D)
C=12 N=14 0O=16
(A) 1 (B) 6
(C) 14 (D) 1.2 x 10?*
17% 0O=16
(A) 7 (B) 23 (C) 39 (D) 85
2NO+ 0, ® 2NO, 0.5
(A) 0.4 (B) 0.5 (C)0.8 (D) 1.0
(A) CoHy (B) CoHe (C)H0 (D) NH3
4.0 CH,4 2.0 STP
C=12 H=1 He=4
(A) 22.4 (B) 16.8 (C) 11.2 (D) 5.6
H=1 He=4 C=12 0=16
(A) (B) ©) (D)
27 127

(A) 27/127 (B) 3/4 (C) 4/3 (D) 127/27



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

A * Bg ® Cy 25
(M)
[A] [B] R(M/sex)
1 4x1073 2x1073 1x107°
1.2 %102 2x1073 3x107°
3 1.2 %102 4x1073 1.2x107*

(A) R=K[A][B]
(A)
(A)
40

(A) 9.2

(A) CaClhyy
(C)cat*+2Cl-

30 2M
(A) 0.06

50 6%
(A) 1.5%

25

(A) 60

(A) HS™

(A)

(B) R=K[A][BI
(B)
(B)

NH4CI

(B) 46

(NaNOs)
(B) 5.1

50
(B) 3.0%

(B) 85

(B) HSO,

-101

(B)

(C) R=KAJ’[B]

(D) R =K[AI[B]

H=1 C=12 N=14 O=16

©)

©)

46 /100

(C) 92

H.0O

(D)

(8)
300

(D) 138

(B) CaChy + Ca* +2Cl,,

(D) C&* + Cl,,

(C) 85

(C) 4.5%

75
10
(C) 100

(C) NO;

( NaNO3 =85
(D) 15

%
(D) 6.0%

(D) 125

(D) CI-

(D)



23.

24,

25.

26.

27.

28.

29.

(A)
(B)
©
(D)
6 ppm
(A) 0.0006 (B) 0.006 (C) 0.06 (D) 0.6
Hag) + 129 ® 2HIg
A
\{_
i B
o, - =
.
(A) A (B)
©) A (D) B
(A) (B)
©) (D)
AgBr 25 Ksp  49x107%, 25 100
Ag=108 Br=280
(A) 7 x 1077 (B) 7 x 10°° (C)1.32x107° (D) 1.32 x 107*

Sn+2H ® S+ Hy
Fe+2H'® F&" +H,
Fe+ S ® Fe?" +Sn

(A)Sr**  H" R
(CO)Fe®* st H

(A) (B)

(B) Srt*  Fe*t  H'
(D)H" s Fe

©) (D)



30.

31

32.

33.

34.

35.

36.

37.

38.

39.

(A) (B)
© (D)

CO +2Hzg 0 CHsOH DH=-25.14

(A) CO (B) CHsOH

©) (D)

2NO, 1 NOs 25 [NO,]=0.01M
25 K
(A) 0.25 (B) 4.00 (C) 6.25

(A) (B) (©

[ N204] =0.04 M

(D) 400

(D)

3Cu+xH,0"+2NO; ® yCu*+2NO+12H,0 X+y

(A)8 (B)9 (C) 10

ZNey + 28" ® Zng E° =-0.76
Cumy+2e ® Cug B =034
Zn+ CU*® Zr**+ Cu

(A) 1.10 (B) 0.42 (C) —0.42
Pb + PbO,+ 2 H,SO, ® 2 PbSO, + 2 H,O
(A) Pb (B) PbO, (C) H,SO0,
(A) Ca(OH), (B) CaSO, (C) CaCOs
(A) (B)
©) (D) KAQ(CN)xa
CHs

|
CH3—CH2—(|3— CH,OH

H

(A)2 1 (B) 2
©)3 4 (D)

(D) 11

(D) - 1.10

(D) H0

(D) CaCh



40.

41.

42.

43.

45.

46.

47.

48.

49.

50.

(A)
(A)
R O R'
(A)
(A)
(A)
(A)
(A)

(©)

50 90
80 |/
(A) 4.0

(A) 0.08 M

(A)

(A)

(B)

(B)

(B)

(B)

(B)

(B)

(B) 4.5

(B) 0.16 M

(B)

(B)

©)

©)

©)

©)

©)

©)

(B)
(D)

(C) 85

M
(C) 0.25 M

©)

©)

(D)

(D)

(D)

(D)

O =

(D)

(D) 95

02M

(D) 0.50 M

(D)

(D)

25









